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AEIFE -
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B U A 6 (312) (180)
e 6 5,243 9,059
TE A 78 & L Hb 3 5 114 114
EESE § 6 = 1,875
WEEEE DAl 2 B - 162
HEWME  BERREBEB 25 6 (35) 666
HEREYEE A 6 (19,436) (53,903)
EEVRERE 6 (7,901) (10,655)
ERREMTERSE 6 = (13,685)
eR=inp == RN b 6 (25,801) (47,966)
HMERF 2 EHEA 6 = 365
BREMELAFEEH 6 (1,681) —
RREFITEEES O AREEERX 6 26,643 —
We B Bt /BB A R FE M 25 (B B ALK AR 6 (17,323) -
KRG € BE 6 190 57
B R # 6 (4,355) 14,000
LEECF R KL EBEN 142,762 64,930
ERAPYZE M (976,100) (256,145)
RBEZEFERMEZRD - 22,140
ERTIZHEMEZRD 615,565 334,577
FE U BR F 2 3800 (Rt 4) (35,437) 8,667
BRR R REMERZKRZELS 7 (GEmM) (119,671) 6,528
J& 1~ BR 3K 2 Rk 42,788 (62,254)
H i B R R ERT A& 218 45,990 (32,640)
BEWET € RIEZEWA 22N 293,523 82,601
£ HA B 1 302 38 A0 - 303
LEEECZERES 9,420 168,707
2 F 312 180
2 F A (120,688) (77,968)
g HNEE IR 32 AT (65,529) (27,836)
KEEBZBESRA (RE) F58 (176,485) 63,083
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REFHZ2BEESR
BEYHE  BWEEREIEEB 15 (3,100) (10,894)
LEYE - BMEKZEEE 2 W& 722 208,645
HERE Y E Z WK 131,758 —
HEAHEERE 18,680 —
RERZEHER 2 FEEE 2 H 0 - 7,970
MRz 8, O 4) (10,754) (59,076)
BEIERHEEZEMNR (224,383) (24,995)
L B8 B B8 A ) 36(b) = (126,589)
WELERRE (2,787) -
Wi HFEEH B - (278,252)
i & B B A A 35 29,552 101,193
HEB &R 2 = 19,714
KREEB 2 HEE ML FHE (60,312) (162,284)
MEFTHZ2BELSR
% B R 2% (21,053) —
IZRITREMER 1,313,435 608,789
EEBRITREMER (1,011,154) (598,263)
RITBEZ 2R (8,756) (397)
REBEIER DB\ 2N, Gl 4) (17,238) (60,966)
ROHEIERE 52 m D - 6
HEREHEE ZES (EBR) (645) 139,405
MEFH RS RAFE 289,065 88,574
RBeRBESEEEM (RD) FE 52,268 (10,627)
FPzRERAESEE 260,283 270,910
EERE(TE  FH (46,797) =
ERZESERESEE 265,754 260,283
REeRBREEEEEIM
RERBITHERF 265,754 260,283






